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Lesson 7
¥ vou'd better

wear more clothes.




- What would they like to do on Saturday?

- They would like







Vocabulary. = . ®ead and learn.

down coa




Practice : - Read and choose.

sunglasses
down coat -

sneakers

raincoat




Present the Grammar™ ook and read.

| It's sunny outside. Had he better
I- wear a pair of sunglasses?

It's almost dinner time! You'd
better not eat too many

y . j s
It's cold outside. &Y snacks.
You'd better wear a down coat.
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had better...

You'd better not eat
too many snacks.

(: It would be a good idea to . g (= It would be a bad idea to

wear a down coat.) eat so many snacks.)




Present the Grammas Question: Had... better...?

H better wear a pair of sunglasses

Had he better wear a pair of sunglasses

y !

Yes, he had better. No, he hadn't better.




Practice the Grammar Read and match.

(] wear sneakers in PE lessons.
, (] eat too much.
You'd better o

o go to bed late.

You'd better not ®

o wear a raincoat on rainy days.

o listen to teachers.




Practice the Grammar™ . Look and say.

You'd better finish your homework.

Had she better wear a raincoat?

They’d better listen to the teacher.

Had we better be quietin the library?

He'd better help with the chores.




Spin and talk.

Annie is at the beach and the sun is very strong.

Sam is in the library and your friend is talking loudly.

@ Alice is about to cross a busy street.
@ Bill sees some money on the ground.

S he'd better not...

Lucy is feeling very tired.

He'd better... @ Allen has an exam tomorrow.

..




. Present the Gramm‘;'* Role-play the dialog.

/

The sun is so strong.
You'd better...

The seafood restaurant
| closes at5:00 p.m. Had
o ~we better...?
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Lesson Conclusi

Today, we learned:

1. New Vocabulary

sunglasses, down coat, sneakers, raincoat

2. Questions with “had better”

* You'd better wear a down coat. 2 Had you better wear a down coat?

* She’d better not eat too many snacks.-> Had she better not eat too many snacks?
* Had he better wear a pair of sunglasses. 2 Had he better wear a pair of sunglasses. ,
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